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* HomeHknaTypa afikeHoB

CH2 = CH: 3TeH (3TU/EH)
CH3 — CH CHz rlporleH (nponmneH)

CH3—CH2—CH CHz CH3 CH CH CH3
6yteH -1 (byTuneH-1) 6yTteH -2 (byTuneH-2)
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* [oNyYeHNE ankeHOB e ame

1.KpeKknHr HeTenpoayKToB:
CH3z —CH2 —CH2 —CH3 — CH2 = CH2 + CH3 — CHs

2. [lernapupoBaHne ankaHoB:
Pt

CH3: — CHs —- CH2 = CH2+ H2



* MonyyeHne ankeHoB

3.[Jernapatauna CnmpToB:

A|203
H.C-CH-CH-CH > H C-CH=CH-
3 | 2 3 00-400C H3C CH=CH CH3+H20
OH

4. [lerngporanoreHupoBaHue:

H3C-CH2-CHzBI‘ ~+ NaOH(chpT.p-p) —> NaBI‘+ HZO ~+
+ HsC-CH=CH:



* NMonyyeHve ankeHoB

5.[leranoreHnpoBaHue:
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* dusnyeckme CBONCTBa

JTEH, IPOIICH, OYyTCH — a3kl ji F

CsHio — CisH32 - sJkuakocTu

BrIciiiie ajikeHbl — TB.BEIIECTBA
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* XMMMyeckue cBOMCTBA

I.PeakLinn npucoeanHeHNs:
1.I'mapupoBaHue :

CH>=CH-CH3+H> — CH3-CH2-CHs
2. anoreHnpoBaHune:
CH.=CH-CH3+Cl> — CH2CI-CHCI-CHs
3.'vaporanoreHnpoBaHue:
CH2=CH-CH3+HC| — CHs-CHCI-CHs




* XMMMyeckue cBOMCTBA

[.PeakLinn NpucoeanHEHUS:
4.l vapaTayms.

(IZJH
H3C-CH=CH2+H20 — H3C-CH-CH3

5.1 lonumepunsayms:

g H2C=CH2—3~ (—CHZ-CHZ-)n
3ITHUNEH NONMU3ITHUNEH



* XMMMyeckue cBOMCTBA »il-'

11.Peakunn OKNCIEeHUs:

Okucnenne (ropeHune):
CoHa + 302 — 2C0O2 + 2H:20



